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RBAXER
BEHAXER EFTRATEH | ETHY | ETHH | BETE(%) | ETE®)
TFERI 2,107 1,903 1,435 90% 68%
A1)l 252 236 192 94% 76%
b A 21 21 20 100% 95%
BE 156 129 26 83% 17%
ey 726 700 632 96% 87%
B 45 38 27 84% 60%
Bz 332 302 253 91% 76%
Pk 478 380 188 79% 39%
TJ 3 3 3 100% 100%
NES 5 5 5 100% 100%
NEFE 89 89 89 100% 100%
HEREI 2,107 1,903 1,435 90% 68%
23 26 26 26 100% 100%
FEy 534 534 527 100% 99Y%
JEyY 1,547 1,343 882 87% 57%
BAEXE K BIE EIHY | =T EIL#E(%) | ETHE(%)
TR (=F) 26 26 26 100% 100%
sA7)I] 5 5 5 100% 100%
BE 16 16 16 100% 100%
B 1 1 1 100% 100%
NEEFE 4 4 4 100% 100%
BEHAXER EFTRATEH | ETHY | ETHH | BETE(%) | ETE®)
THERI(F@EY) 534 534 527 100% 99%
A1)l 71 71 71 100% 100%
fbBh 12 12 12 100% 100%
BE 394 394 387 100% 98%
B2 13 13 13 100% 100%
TK 3 3 3 100% 100%
NEFE 41 41 41 100% 100%
BHAKXE K BIE T SET EILHE(%) | ETHE(%)
THERICE@EY) 1,547 1,343 882 87% 57%
sA7)I] 176 160 116 91% 66%
BbBA 9 9 8 100% 89%
EE 156 129 26 83% 17%
B R 316 290 229 92% 72%
B2 32 25 14 78% 44%
BE 331 301 252 91% 76%
s 478 380 188 79% 39%
NES] 5 5 5 100% 100%
NEFE 44 44 44 100% 100%
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